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(4). Let X,Y be two random variables and if X has a Bernoulli distribution with parameter p (thatis, P(X=1)=p=1—
P(X = 0)),and E(Y|X=0) =1,and E(YIX = 1) = 2, whatis E(Y)? (10%)

(5). A coin is tossed four times. Let X denote the number of times a head is followed immediately by a tail. Find the
distribution, mean, and variance of X. (15%)

(6).Suppose that the random variable X takes on the values: 0,1, ... with the following probabilities: (15%)

a C -
f(H=PX =)= 3 I = 0,1,..
1. Determine the constant ¢ and compute the following probabilities:

2.P(X = 10); _
3.P(X € A),where A={j;j=2k+1,k=0,1,..}

(7). A regression analysis from a sample of 15 produced the following: (20%)
X0 =X —y)=160 , Z(x; — %> =180 , X(»; —7)* =190 , T, —9N* =40 , x =12, =56
1. Find the estimated regression model (Sample model) #, = by + byx;, thatis b; and b,.
2. Find the estimate of the standard error for the model, that is s,.
3. Find the estimate for the standard deviation of the slope, thatis s .
4. Provide a 95% prediction confidence interval for E(ylxp = 16).

where t0.05‘15 = 1753.1 4 t0.025,15 = 2.1315 t0_05'13 = 1.7709 > t0_025,13 = 2.1604




